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. (a) Since T : Cs1 sefisil

and Iff(I)
,
IfT

· Since 169123,

T + G1 , 2] .

(b) Ho ! (there are many possible

examples to show that both Le T

and 2T are possible (

if f (2) = 0
,
then 2f(2) so

ZeT ;

if f(2) = S
,
then 26f(2) so

24T ;

hence both Let and 2 T are possible



(2) 9
.
2
.

3

(a) atS but a f(a) : hence

St f(a)

(b) Similarly bf(b) but bes

so Stf(b)
,

and cef(c) but CeS

so Stf(c) .

(C) Since sef(s) for sea ,
b
,
c,

T = 25es/Sef15i] = Ga , b , cy .



13) 9 .2 .4 (this is similar to 9
.

2
.3)

(a)b = f(b) but b 49 ,].

Hence flbl +Ea , C].

(b) a flal but achach. And

Cdf(c) bu Ceda ,c ·

Hence flat
,

flc) 19 . 23 .

(c) Since :

Sefls) for sa.? a
,

T

Sef(s) for s = b bT

hence T = Ea . <].
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[There are many possible examples
here...)

Let fla) : f(b) = f(c) = S : Garb, c) .

Ther

[s(sc f (s)} = Ga ,

b
,
23 = S

which is in the image of
f

(since fla) : S1.


